CUTNEENESR-15 S

MEVEN: Writeas (cosz(x))nand use Half Angle identities.

@ chosm(XB O‘.X = May need to repeat! —"SPAGGIER"
1 M OOD: Writeas cos™ (x) CoSGS) . Sinee g(ﬁ will be
OR SINE. = even, we then write CCos’(X))"-‘\Q‘){M md
(g‘mmszfﬂ-\-i Next use Pythagorean ldentity cos%69=1- sin*(x)
IN PROCEDURE. to convert everything to SINE (except for the

straggler) and complete with the method of
substitution using: w=su(x)

m . 5 let W=00SK) and complete with the method of
@ \r oS (X\ SU\(X}JX substitution.

. s let W=5(d and complete with the method of
@ j‘smn(x‘ ch(x3 Jx substitution.

for myn>1

® f s (x) cos"(x) o!x7

Three cases: " SIAGGUER"

. K
e If nis 000, then n=2k*1. Pull out one COSINE fo rewrite as sin™(x)(cos6A)) " cosx)
Then use the Pythagorean ldentity costtx)= 1-su*(x) to rewrite
remaining factors in terms of SINE. Finally, use the method of
substitution with w=sw(x) which will eliminate straggler. P
LER
o If mis 00U, then m=2k*1. Pull out one SINE to rewrite as  (sif00) sinlx)- cos™6)
Then use the Pythagorean Ildentfity suw(x)=1-¢os?6)) torewrite
remaining factors in terms of COSINE. Finally, use the method of
substitution with. w=0s0) which will eliminate straggler

o If both m and n are OPU, follow procedure for the smaller odd value (it
will work either way but this will save time).

e If both m and n are EVEN. Convert everything to either SINE or
COSINE using Half Angle ldentities. It is oftentimes helpful to use the
double angle identity Sun(2x)=2stn(x) cos ()



Let's check out a few more integrals so
EXA“? L fha’r we can see how these "guidelines’
Bl [ [sitGodx = f (safodx = [[1=tostod'd

MEVEN
2
::- 1-2¢cos(@X)+ oS (2X))ax
GUIDE LINE ( =T HAalF ANGLE

= -,Tj(.mmx+ 5300 &

= 4 [t -2ces@) + §eoshd) dx 7 W }(34x-sin(@) + Si_‘\g(i“) 4 cj

: SUBST.
w’?%ir NEEDED W =YX NEEDED.
REWATE =,

—
J’eos‘édclx = J@“’S("Hx
m._onb : l'w'mm w=sn(x)
= J' (1-sin®x) cosfddx dW/Jx cos(x)
GUINELINE }),
28, = Ja-w)cosdes dx= Teostd)
co

:Il-wz dw = w- W%-\-C
= i) - S"f_g_“ +C
|
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[:C] fsiﬁ'éd cosGdx = I(sln(ﬂ)’cosbd& = SIn6d)
ol amydy Yo e
- 3 - d’( = C—OS(X)

= fm dw
/2 1C= _‘78\.{\ (50




/‘W % . |
B! ﬁos Sa)sin¥(x)dx = j'coss&}si.n 6)sin () dx

" Pymi-THm.

=CoS (x)
= (005569 (-®) 50 63dx |y 2osin
— fms x = )
inbay dw ~ =siniX
.ﬁ =fw$(l-w%-wgn,&s
= -ju‘(l-wz}dw = -fu‘- w* dw
z - Jif'q- .L"_? +C
=Wy u
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